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ER0FEE 2 ERISBEREST A 3Z 7 & oD i BT AT A BN AR 4K

= MO FF S EA &R L33 (FE) BiRM LI (EFank)
E#BERFR A Rt &4E
HEINZ | dgEsy RERRBEECR) NREEN BEERBEREN) HREEN NREMBERK)| (B EEMH)
dtimE 834 780,557 787 717,987 19 10,997 11,465.4
JEJITH 27 12,019 27 12,019 5 1,872 364.6
 p&h 2 5,719 0 0 0 0 7.4
NG ] 8 11,779 8 11,779 0 0 85.7
R 22 20,135 22 20,135 0 0 284.5
S5kt 8 686 8 686 0 0 10.6
=RR™ 25 17,095 25 17,095 0 0 596.4
HEE™H 4 11,110 4 11,110 0 0 151.1
BeAth 5 513 5 513 0 0 16.0
B/ 2 956 2 956 0 0 4.4
MW 3 12,411 0 0 0 0 16.1
X8 21 8,584 21 8,584 0 0 313.4
= Al 11 1,612 7 1,165 2 335 49.4
LA 9 6,049 9 6,049 0 0 190.1
IRFH 6 669 6 669 0 0 23.2
& Rl T 1 6,812 1 6,812 0 0 34.7
mnp: 1| 17] 14 13,408 14 13,408 0 0 226.8
ZEFE™ 9 8,203 9 8,203 7 5,358 221.0
=%t 2 258 2 258 1 207 12.7
R=mH 1 7,731 1 7,731 0 0 19.3
T 7 3,757 7 3,757 0 0 57.6
ETH 6 3,960 6 3,960 0 0 134.0
IG5 5 790 5 790 0 0 15.9
E)Th 5 9,855 5 9,855 0 0 331.6
ERH™H 6 9,348 6 9,348 0 0 157.0
BEE™ 4 2,972 4 2,972 0 0 103.8
FEmH 2 231 2 231 0 0 7.0
P| /N =137l 1 461 1 461 0 0 14.2
BIFH 7 2,983 7 2,983 0 0 69.5
| ] 12 1,701 12 1,701 0 0 68.4
= Rl BT 8 7,293 8 7,293 0 0 242.4
HTiRIEN 5 4,995 5 4,995 0 0 183.8
fa ST 1 29 1 29 0 0 1.1
X0 PN ET 8 1,089 8 1,089 0 0 22.4
ARy RHET 1 730 1 730 0 0 14.6
+ERET 8 2,814 8 2,814 0 0 76.3
FRET 2 1,142 0 0 0 0 3.8
J\ZEHT 5 1,253 4 1,200 0 0 20.2
R 5 &RET 3 1,337 3 1,337 0 0 3.3
LT 1 748 1 748 0 0 315
L /EIHfT 5 563 4 548 0 0 23.2
[ iR &R ET 23 2,034 11 1,028 0 0 56.3
Z ERET 2 126 2 126 1 72 4.8
B3 J5 BT 1 392 1 392 0 0 3.0
S & HT 4 314 0 0 0 0 6.5
S%H 1 90 1 90 0 0 1.8
SR NHET 1 331 1 331 0 0 2.9
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#IERTIR 4 R{t&48E
TEN 2 | seses RTRRANERN) S2EE% [BTRARERN) JRES% HRERRERE) (B BAMA)
B ET 13 2,948 13 2,948 0 0 101.0
il u:i} 8 2,216 8 2,216 0 0 38.9
=R GY ) 10 2,610 10 2,610 0 0 33.2
=% AT 4 680 4 680 0 0 10.1
R ABHET 1 2,245 1 2,245 0 0 27.1
1B AN HT 5 1,803 5 1,803 0 0 34.7
HFOHET 17 4,267 17 4,267 0 0 112.2
= PNET 2 178 2 178 0 0 3.4
oikadLIES] 1 98 1 98 0 0 2.7
P 5 T 3 5,345 3 5,345 0 0 197.0
=FHITHT 5 1,788 5 1,788 0 0 63.0
FH{_HT 13 5,861 13 5,861 0 0 169.4
KA 31 10,375 31 10,375 0 0 343.3
S ILIET 1 5,192 1 5,192 1 2,470 175.3
H iz HT 9 2,622 9 2,622 0 0 98.0
JH EFET 4 2,283 4 2,283 1 389 86.3
Hr+iE )| ET 10 4,363 10 4,363 0 0 168.1
BRE 4 HT 11 3,335 11 3,335 0 0 124.7
Fx 3 Il BT 1 2,989 1 2,989 0 0 105.6
SR 7 3,250 7 3,250 0 0 127.0
dt == HT 1 2,786 1 2,786 0 0 96.8
7 T 2 3,721 2 3,721 0 0 119.1
& {75 ET 5 3,803 5 3,803 0 0 142.2
R A8 T 3 2,463 3 2,463 0 0 93.2
= [FRET 2 732 2 732 0 0 27.8
Lt #r T 4 1,987 4 1,987 0 0 73.9
% Il BT 7 1,432 7 1,432 0 0 53.5
L JIHT 2 302 2 302 0 0 8.1
51| /T 5 2,946 4 2,051 0 0 93.3
EEEMT 1 11,710 1 11,710 0 0 199.0
+'E BREFHET 5 6,513 5 6,513 0 0 116.0
H'E R EFHT 7 4,463 5 3,767 0 0 124.6
= B EFHT 3 2,419 3 2,419 0 0 36.5
FOZRHET 10 4,181 10 4,181 0 0 96.6
Rl ik T 8 3,976 8 3,976 0 0 80.0
TIIET 1 293 1 293 1 293 14.3
35 RHET 10 4,300 10 4,300 0 0 38.9
b ) 1| BT 1 3,496 1 3,496 0 0 30.3
5200 R T 3 4,402 3 4,402 0 0 80.6
ET) 5 484 1 99 0 0 10.1
/N EHT 12 1,628 12 1,628 0 0 54.0
& HiTHT 9 3,007 9 3,007 0 0 57.3
FIngHT 4 1,539 4 1,539 0 0 28.8
£ LU A1l A 3 783 3 783 0 0 14.7
3= 7l BT 1 3,597 1 3,597 0 0 432
KIGHT 1 8,597 1 8,597 0 0 22.2
IRILFT 1 5,073 1 5,073 0 0 12.7
JECHE Al BT 1 5,055 1 5,055 0 0 13.8
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TEN 2 | seses RTRRANERN) S2EE% [BTRARERN) JRES% HRERRERE) (B BAMA)
Rt 5| BT 1 2,669 0 0 0 0 3.7
s 1 8,178 0 0 0 0 10.6
25 1 11,975 1 11,975 0 0 29.3
52 SLE T 3 6,148 0 0 0 0 8.0
5 ISR T 1 9,191 1 9,191 0 0 130.8
2 I BT 1 5,537 1 5,537 0 0 66.5
B HT 1 9,884 1 9,884 0 0 142.5
BT 1 8,658 1 8,658 0 0 113.0
INE K HET 1 10,364 1 10,364 0 0 126.9
&l F FFET 1 6,119 1 6,119 0 0 89.6
(=N al:i] 1 4,276 1 4,276 0 0 35.1
1% = fE] ET 1 7,297 1 7,297 0 0 61.0
= EXHT 1 6,029 1 6,029 0 0 52.9
7% Il T 2 8,215 2 8,215 0 0 56.3
R SR ET 1 5,642 0 0 0 0 9.3
7o LR A 1 1,248 1 1,248 0 0 75
B ECHT 1 8,024 1 8,024 0 0 20.1
KZEHT 1 13,018 1 13,018 0 0 171.3
= T 5 1,156 5 1,156 0 0 13.4
ot T 8 709 6 565 0 0 10.4
=E=:] 1 523 1 523 0 0 1.3
[EEHT 1 5,749 1 5,749 0 0 150.8
i[Fl Zr i ET 5 1,726 5 1,726 0 0 23.4
= HT 10 6,582 10 6,582 0 0 112.6
O HVHHT 2 4,374 2 4,374 0 0 140.7
B & HT 2 685 2 685 0 0 8.0
et BT 2 617 2 617 0 0 6.3
SF AT T 2 953 1 594 0 0 5.1
FrALLET 1 122 1 122 0 0 25
HTOT=HVET 2 521 2 521 0 0 6.8
=i 32 18,791 32 18,791 0 0 241.1
T HRHET 9 14,439 9 14,439 0 0 144.1
L 1RET 5 3,287 5 3,287 0 0 41.1
FEE 1B HT 1 11,295 1 11,295 0 0 101.4
1S HET 1 5,195 1 5,195 0 0 30.0
A KHET 11 7,016 11 7,016 0 0 54.0
ZF = M7 29 13,372 29 13,372 0 0 170.8
o AL A AT 11 6,063 11 6,063 0 0 84.3
5 5l 44 3 11,291 3 11,291 0 0 1325
%= Al ET 14 14,639 14 14,639 0 0 177.6
tt EH ET 10 6,495 10 6,495 0 0 69.6
S LEHAT 1 1,826 0 0 0 0 13.0
7K I BT 16 3,994 16 3,994 0 0 43.6
BT 14 5,891 14 5,891 0 0 471
SR ET 15 5,040 15 5,040 0 0 59.8
P PR ET 0 0 0 0 0 0 05
JZ R ET 1 6,319 1 6,319 0 0 15.3
pasliiyy 1 5,046 1 5,046 0 0 11.1




= b £ ST L

FiRME £ (2 R)

&iRF EXZ#h (RFan{L)

#IERTIR 4 R{t&48E

THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
SACHT 1 1,473 1 1,473 0 0 3.2
5 F JiE BT 1 9,763 1 9,763 0 0 38.2
BEH 1 7,013 1 7,013 0 0 175
=F) 1 3,242 1 3,242 0 0 11.8
Al ET 3 62,952 3 62,952 0 0 180.4
o R T 2 21,362 1 6,840 0 0 45.0
T 1 10,729 1 10,729 0 0 27.4
& FIfT 1 608 1 608 0 0 1.5
BEH5E 478 43,407 388 37,997 96 6,221 1,935.5
B#Hm 25 2,514 21 2,302 0 0 115.4
shARIITH 36 2,439 36 2,439 29 2,172 154.8
J\FTh 19 530 13 433 9 174 24.3
=ZValnil 15 841 14 742 1 37 33.7
HATIIR™ 33 5316 28 5,051 0 0 235.2
+F0EH 46 3,999 29 3,053 0 0 175.6
=Rt 1 43 1 43 0 0 1.4
Do 1 10 0 0 0 0 0.2
M5t 81 10,193 81 10,193 3 191 434.5
T 32 1,920 32 1,920 29 1,815 122.3
SN ET 8 435 7 364 3 172 235
< Al ET 1 119 0 0 0 0 3.6
ZE@AAM 8 951 8 951 0 0 45.1
b\ 4 S HT 6 266 6 266 1 39 13.5
fi8 4 iR ET 14 474 4 114 2 52 18.0
iR ET 3 308 2 81 4 196 13.9
mEER 3 160 3 160 0 0 10.4
R 155 BT 16 1,666 16 1,666 0 0 43.4
KESHT 5 109 4 101 0 0 4.4
HEEEHM 6 481 6 481 0 0 21.7
Fr AUNET 11 892 3 353 0 0 29.9
&5 FH HT 7 959 0 0 0 0 28.0
Hh e HET 14 2,921 14 2,921 0 0 136.1
73 i BT 4 111 0 0 0 0 2.9
awy=1:] 11 1,860 6 1,245 3 686 80.3
75 HT 10 916 10 916 8 641 58.8
HACHT 6 599 4 558 0 0 26.3
AR S| 9 668 8 651 0 0 16.4
EUNSEHET 2 132 2 132 0 0 5.9
FE AT 1 152 0 0 0 0 45
= FHT 6 243 6 243 1 14 8.1
E=l) 6 198 1 14 0 0 5.7
H - HT 19 446 11 234 0 0 17.0

FE BB HT 12 522 11 358 2 21 20.3
HriEAt 1 12 1 12 1 12 05
=2FE8 1,077 77,304 844 69,578 761 56,765 5,249.7




=i R A BRMA L3 (HED BRMALXI(RFHRIEL)
#B1E T R 4 R {TE%E
THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
Rt 38 3,574 33 3,437 33 3,192 237.6
=il 9 152 9 152 5 103 10.7
KE™ 8 118 4 52 1 9 4.8
e&th 115 13,136 88 12,195 89 11,007 943.7
dt bt 47 7,398 47 7,398 37 6,057 559.3
A#ET 8 394 8 394 5 151 19.9
=EFTh 73 2,604 56 2,208 41 1,602 151.4
—Bmh 198 9,844 182 8,967 193 9,606 755.9
fERI=SHET 6 161 3 81 0 0 6.2
ZATH 3 58 0 0 0 0 1.6
=] 46 1,631 42 1,510 27 890 82.6
J\IEFH 44 4,342 44 4,342 43 4,315 309.8
B T 157 14,997 99 13,395 100 7,101 949.7
&R 8 544 1 84 0 0 15.8
TARHET 41 3,862 39 3,767 32 3,381 286.2
AT 4 103 0 0 0 0 1.7
= FHT 6 496 4 152 6 496 35.1
X R HT 40 4,053 33 3,802 29 2,940 276.7
S MET 30 2,433 20 1,957 19 1,568 148.4
FEFNE T 31 1,319 27 1,177 32 1,371 111.3
£ 4B HT 39 2,630 22 1,830 18 1,614 170.2
I SR AT 24 841 10 593 4 105 48.5
{E HET 11 142 11 142 2 15 7.8
K HEHET 3 85 3 85 0 0 2.9
|| FR AT 5 146 3 133 2 120 11.1
= SRET 1 130 1 130 1 81 6.9
FH E7 48 44 1 24 0 0 0 0 0.7
A 1 10 0 0 0 0 0.2
X KT 17 347 13 257 4 89 15.7
EFEHA 7 132 0 0 1 18 3.2
AEF 19 397 17 386 16 350 30.8
FEETHT 12 288 6 130 8 155 11.6
— P HT 25 912 19 824 13 429 31.8
= I 12 1,011 74,267 637 56,384 116 12,653 2,762.2
M= 47 3,050 19 868 4 153 107.5
£%&tH 19 7,377 18 7,134 7 3,372 204.8
=i ] 1 40 0 0 0 0 0.9
S BT™H 83 631 3 25 0 0 18.2
=E=k;il 18 399 3 152 0 0 14.2
2 B 13 1,176 11 1,027 0 0 36.5
AHETH 40 2,193 31 1,715 3 181 92.4
ZE W 6 262 0 0 0 0 7.7
=AM 17 1,249 15 1,083 0 0 43.8
Xt 148 11,936 130 11,222 43 3,781 580.0
ERtH 146 9,456 131 8,525 20 1,264 420.4
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HEINE | dgEsy RERRBERECR) NREEN BEERBERM) HREEN NRERBERK)| (B BEM)
ERUN=Ti] 27 2,043 4 269 1 79 73.8
K& 149 10,194 100 7,242 25 2,234 448.1
=48 5 257 1 61 0 0 6.1
& BT 9 309 0 0 0 0 8.8
+ 4 =T 6 220 0 0 0 0 6.6
KA R T 5 127 0 0 0 0 3.8
# EHET 5 575 5 575 3 381 22.9
4E EHHET 13 646 13 646 0 0 28.4
J1| 5 ET 7 370 1 58 0 0 12.1
FLERET 40 1,292 29 977 3 180 60.4
B IEAT 6 2,983 6 2,983 0 0 56.2
1Ly T HT 8 315 2 46 0 0 10.0
N 9 628 4 448 0 0 18.8
T4l 1 119 0 0 0 0 3.6
R FOHET 35 1,811 31 1,712 0 0 44.8
K $ERET 16 1,390 16 1,390 6 483 51.7
K&+ 10 910 0 0 0 0 22.6
& FRET 22 2,000 0 0 0 0 59.2
fNSEHT 42 3,732 32 3,108 0 0 102.4
RAHT 19 1,879 9 1,492 1 543 81.8
< EHT 20 4541 17 3,559 0 0 107.8
e = =T 19 158 6 67 0 0 5.9
MEER 1,054 97,584 919 91,943 245 17,039 4,541.3
BET™H 84 5,476 58 4,213 6 220 259.1
CERavnt] 27 5,330 27 5,330 10 413 237.7
EFth 68 12,393 67 12,354 30 3,717 646.7
KEETh 82 4,207 74 4,016 8 355 213.0
B 31 2,615 23 1,836 3 99 117.7
ZR™H 23 3,754 19 3,598 10 3,126 175.8
AT 58 2,984 52 2,546 14 375 137.2
B AT 132 6,832 112 6,358 61 2,728 424.7
=M aly] 16 2,706 14 2,591 0 0 131.2
XMl 142 15,063 131 14,713 51 1,960 780.0
dEFET 81 3,982 77 3,880 0 0 181.3
[ZAETH 30 1,923 26 1,801 5 468 94.3
fillde v 51 3,278 49 3,255 0 0 156.8
/NYR BT 9 387 9 387 1 98 19.6
L NBR{Z A 10 245 10 245 0 0 11.8
s R HT 10 514 7 447 0 0 23.9
=FEHT 49 3,420 38 2,926 1 24 157.0
J\ & BT 24 1,263 16 1,012 0 0 70.6
Tk B HT 26 916 25 844 11 286 55.2
J\BR =T 6 657 6 657 0 0 32.0
+ 1| BT 8 610 3 236 0 0 22.5
KiaH 1 11,371 1 11,371 0 0 162.2
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
S JERET 31 5,109 26 4,892 5 1,124 253.3
P11z BT 40 2,230 39 2,217 29 2,047 163.8
R ACEAT 15 318 10 219 0 0 13.8
HifiA= 877 85,306 578 62,139 457 37,022 4,742.9
Wiz 33 2,766 22 2,201 29 2,156 193.1
KRt 32 2,896 9 343 29 2,470 178.9
ERETH 158 14,589 121 13,019 60 7,691 908.6
SEETH 46 10,616 40 9,293 14 3,262 566.9
hIE™ 35 4,342 35 4,342 0 0 194.3
AL 15 1,747 10 742 2 235 64.2
i 27 794 4 199 15 588 425
U 11 2,622 5 480 4 366 96.4
RHH 8 2,582 6 2,441 3 582 132.9
XET 7 1,657 3 1,577 2 843 103.8
RiE™ 11 1,999 0 0 9 1,408 95.8
=0 NG ] 39 3,151 26 2,591 23 2,429 220.0
i 23 1,811 16 1,387 21 646 76.9
|Li 3 HT 6 322 4 273 2 258 29.0
b LI T 3 1,167 1 30 2 40 23.3
| dii) 18 1,712 18 1,712 7 139 75.6
75 )1 BT 14 265 1 25 5 87 11.6
2A B HT 18 600 3 319 15 472 32.6
RGIHET 3 468 2 69 2 69 19.6
KA HHET 11 1,229 9 1,202 2 128 58.1
£ LI ET 20 1,173 11 676 12 615 67.4
=L HT 33 1,972 0 0 14 946 90.5
Fit fiZ BT 17 754 15 547 0 0 28.3
BE=)IIET 28 884 21 575 13 414 52.9
KT 11 497 5 228 4 140 23.4
£ )11 44 17 817 9 385 13 446 46.3
FiR# 16 975 16 975 0 0 435
=28 21 2,423 0 0 18 752 97.7
JI| P BT 18 4,152 8 3,385 18 1,262 232.5
/)N [E]HT 20 667 15 566 14 517 44.1
B ERT 16 1,256 15 1,247 13 1,175 102.0
iR = HT 38 1,711 37 1,638 36 1,642 1315
=JIET 22 2,101 9 1,080 5 654 99.0
J£ PR HET 78 5,547 78 5,547 48 3,835 394.2
iz {4 T 4 3,044 4 3,044 3 756 165.7
=EE 1,416 64,728 1,027 54,142 167 10,359 3,059.3
=EmH 53 2,426 35 2,134 28 1,776 154.7
SEEWNTH 111 4,796 68 3,211 5 345 209.2
AUt 115 6,175 85 5,050 2 141 274.1
WhET 56 2,690 47 2,528 5 513 136.9
B th 65 2,962 65 2,962 20 1,150 173.0
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
AE)lTh 44 4,141 31 2,994 0 0 164.3
%A 103 4,725 88 3,989 29 1,424 254.9
HET 25 1,263 23 1,101 5 250 67.7
— AR 60 1,206 41 924 3 91 53.5
B4 th 44 798 4 191 0 0 26.5
i ET 43 3,544 42 3,189 3 178 150.3
FEmH 21 1,185 17 1,036 7 726 63.3
A=h 17 398 17 398 11 183 25.7
SYTHT 2 246 1 206 0 0 11.3
E R HT 9 428 3 165 0 0 13.8
JIHRET 2 129 1 111 0 0 4.6
REH 8 306 8 306 0 0 14.9
ERHET 8 1,171 6 708 7 836 65.5
REH 18 730 18 730 7 336 46.1
TIRRAT 11 381 7 320 0 0 16.6
j=g=1:i) 13 262 11 223 0 0 11.9
= 2T 28 1,080 28 1,080 0 0 48.7
L5 = 6 70 2 28 0 0 2.3
= 2T 1 901 1 901 0 0 40.1
B2 fh T 5 146 1 18 0 0 46
F& | HT 55 2,122 48 1,911 5 187 103.7
=EIRTHT 54 3,117 51 2,985 2 78 136.4
A1k 10 890 10 890 2 513 56.1
Hn;E /T 1 445 1 445 0 0 19.7
= EfT 5 38 0 0 0 0 1.1
% AT 1 173 1 173 0 0 8.6
RR A0 10 268 10 268 0 0 12.4
IR EMET 50 2,433 46 2,293 3 168 109.9
Ficpsil o) 10 667 9 588 0 0 27.9
SR A 9 630 9 630 2 293 34.1
S5 8 626 4 226 1 34 23.2
X WR T 26 973 18 831 4 268 51.4
W= ET 18 800 18 800 11 601 51.2
RERHET 21 322 0 0 0 0 9.7
t=my 11 390 11 390 1 64 20.5
g2 115t 66 704 0 0 0 0 18.9
A ET 25 1,199 24 1,187 0 0 48.8
EJIF 11 666 10 616 0 0 26.3
SERF 18 724 18 724 0 0 34.8
&I T 13 477 11 433 4 203 29.3
o B AT 44 264 0 0 0 0 7.8
=M 28 869 28 869 0 0 37.8
INEFET 15 519 15 519 0 0 23.0
[~ B HT 1 204 0 0 0 0 6.1
JIR#E 1 390 1 390 0 0 21.0




=i R A BER L (R BRMm L (RFamL)

#HEFEA R {TE%E
HEINE | dgEsy RERRBERECR) NREEN BEERBERM) HREEN NRERBERK)| (B BEM)
JRILHET 7 586 6 518 0 0 24.2
Fith ET 12 647 10 527 0 0 30.1
EREEFT 18 1,428 18 1,428 0 0 50.8
BRIt &t 5913 442,595 4,393 372,183 1,842 140,059 22,291.0
I B 621 34,497 459 27,372 211 11,647 1,837.9
KA 52 2,189 14 711 9 448 93.7
HiLmh 1 42 0 0 0 0 1.3
Timmh 9 973 7 829 3 663 66.8
=pclihil 7 589 4 223 1 72 20.6
ARETh 34 1,450 34 1,450 16 661 95.7
$EITH 22 897 14 611 0 0 31.8
BEA IS TH 7 341 4 212 0 0 15.3
i 1 897 1 897 1 224 35.3
= 11 553 4 262 4 273 46.6
wEXKETTh 21 1,514 21 1,514 12 595 89.4
=S#kh 9 200 5 141 0 0 8.2
Jt &g h 3 91 1 37 1 37 4.5
et 38 1,452 34 1,368 11 552 85.4
MFE 3 271 0 0 0 0 4.9
KL 35 2,349 25 1,795 0 0 102.6
U674 5 280 0 0 1 29 8.9
=n] 3 106 3 106 0 0 4.7
A ETh 6 431 6 431 4 330 33.4
FAT 3 562 2 510 1 360 23.9
BEXRET 24 1,098 18 926 10 467 63.7
AR EA] Th 22 898 3 141 2 43 29.6
HEET™ 28 1,134 24 1,042 7 221 46.7
IRETH 8 556 6 396 4 181 18.8
HRETh 47 4,708 46 4,687 21 1,976 265.1
MNTHMNSISTH 21 1,325 19 1,244 15 996 97.4
=)™ 71 1,921 65 1,833 62 1,782 161.1
BT 2 137 2 137 1 50 7.3
1TA™ 19 1,696 15 1,224 11 820 92.3
$2ATH 3 311 1 226 0 0 14.4
HKIEH BT 16 780 11 503 0 0 34.9
INEETH 18 618 18 618 3 133 33.4
I AT 35 1,223 19 641 0 0 47.7
R FEHT 1 250 1 250 0 0 9.1
$pk, B HT 5 358 4 268 1 15 14.9
R 1 116 1 116 0 0 6.8
KFHT 1 495 1 495 0 0 20.7
B 2 140 2 140 0 0 6.8
fA] R ET 11 333 11 333 0 0 14.8
SA] R T 2 319 2 319 1 85 19.8
J\F{CHT 9 660 9 660 7 557 485
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
ST 3 137 2 77 2 77 8.4
FI AR BT 2 97 0 0 0 0 2.7
AARR 479 43,882 296 32,738 41 6,435 1,772.4
FENE T 66 4,172 38 2,845 0 0 165.8
RBFITH 7 301 1 29 0 0 8.8
AT 39 3,832 26 2,653 0 0 142.0
{EEFth 16 634 1 46 0 0 18.4
EEiA™ 31 2,110 12 731 2 70 70.7
=B, il 40 3,112 32 2,664 14 1,148 128.9
INLTR 13 6,073 9 5,647 8 2,539 241.6
B 2 82 1 44 0 0 3.1
KHART 59 6,012 48 5,364 0 0 256.9
XHxh 13 804 11 706 0 0 34.1
AREE R 49 4,079 41 3,792 10 902 181.0
=<bth 12 1,610 9 1,381 3 446 71.1
B ST 11 663 5 421 0 0 23.6
T8 24 1,920 7 709 0 0 68.5
£ =JIIET 3 78 0 0 0 0 2.3
= FHT 1 1,338 1 1,338 1 1,184 78.6
mh B HT 14 533 5 233 0 0 19.7
7 HHT 14 3,408 10 2,036 0 0 132.8
T 4| 6 547 3 282 1 90 21.5
¥ ARHT 9 477 5 289 0 0 16.2
18 A HT 18 951 18 951 2 56 46.0
= AR R BT 1 124 0 0 0 0 2.9
ABZE T 23 703 7 332 0 0 24.2
AR ) 1| BT 8 320 6 243 0 0 13.8
HER 259 17,684 213 15,075 139 11,768 888.2
BIfE™h 30 2,882 28 2,593 17 1,754 136.8
=] 9 653 7 598 5 341 34.3
R &£ TH 1 53 0 0 1 53 3.3
FGTHh 10 508 9 483 9 466 34.0
ANHT 21 1,705 14 754 7 908 79.9
sBETH 34 1,360 34 1,360 6 201 56.0
fEMTh 8 393 5 269 7 355 25.6
32)lmh 8 317 3 138 4 188 12.3
e T 13 833 9 467 5 260 33.1
SR 9 324 6 300 2 141 15.8
T 10 809 8 612 4 283 35.1
AHEYTH 4 440 3 426 4 440 24.7
BERF 3 72 3 72 0 0 2.8
= ] HT 1 6 0 0 0 0 0.2
T{ZHHT 4 46 4 46 1 9 1.6
=] 1 4 1 4 1 4 0.2
th 2 &< HT 15 378 10 357 7 318 26.5
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
R EF R T 1 367 1 367 1 367 19.1
EAA 6 1,409 6 1,409 6 1,409 66.3
REZEM 16 382 14 321 13 335 22.0
LT 2 45 2 45 0 0 1.4
JI B4 6 240 6 240 8 276 14.3
BRF0FT 10 1,559 10 1,559 10 1,559 73.8
AL HNABT 8 225 8 225 0 0 7.8
EATHT 11 656 10 606 5 442 42.3
2 HT 8 861 8 861 7 680 48.8
BAFOET 1 835 1 835 1 756 53.9
F{CHHET 1 59 1 59 0 0 2.4
KSR HET 2 108 0 0 2 73 4.0
= ZE T 6 157 2 70 6 152 10.1
BmEER 349 16,345 218 9,671 79 3,577 654.0
=LV =FETH 15 391 3 104 1 71 15.2
JI#&h 11 977 8 319 9 334 41.0
BEEATH 44 3,072 44 3,072 7 1,404 178.0
{THT 15 986 14 786 0 0 435
B 6 130 5 83 0 0 4.4
BReeTh 1 13 1 13 0 0 0.6
hnzath 32 1,282 32 1,282 1 26 21.3
AET 5 1,108 3 189 0 0 31.3
Emm 5 362 1 54 5 362 23.8
HHE™H 14 266 13 247 9 195 18.7
P& 12 531 4 209 1 52 21.1
JEETTH 15 870 7 345 6 318 40.1
EATH 38 1,744 8 618 2 122 54.1
tRE™H 5 75 4 69 4 68 5.7
BNt 1 23 0 0 0 0 0.6
AT 4 78 2 49 2 49 4.9
Fyeth 1 22 0 0 0 0 0.4
NG5 1 22 1 22 0 0 0.8
AET 7 191 0 0 0 0 5.6
AR 2 47 1 40 1 12 2.0
ETR™ 2 54 2 54 1 32 3.8
EHATH 3 85 3 85 0 0 4.0
IRETHh 3 93 0 0 0 0 2.8
=Z=Fth 5 138 0 0 0 0 3.8
BT 1 14 1 14 0 0 0.4
EIGi 15 225 9 130 14 182 13.5
SUHEH 3 46 0 0 0 0 1.4
=liki 6 84 2 60 0 0 3.2
REHET 3 57 0 0 0 0 1.7
=5H/T 1 34 1 34 0 0 1.0
E = LLUHET 3 40 0 0 0 0 1.2
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
5 A HT 1 24 1 24 0 0 1.1
78I BT 6 141 5 133 3 100 8.6
= LI T 9 143 7 125 0 0 6.0
/N1 BT 10 168 4 79 9 158 11.3
JI| EHT 3 82 1 19 0 0 2.6
& RHET 8 143 8 143 0 0 6.5
& LI BT 4 109 4 109 1 32 5.1
=gadilf 2 12 2 12 0 0 0.3
1)\ B B T 3 24 3 24 2 14 1.3
RERAT 1 21 1 21 0 0 0.8
< EHT 2 790 1 43 0 0 21.4
) 1| ET 4 489 3 89 0 0 13.0
L EHT 3 950 2 903 1 46 195
& EHT 7 54 6 48 0 0 2.2
= {CHT 3 35 0 0 0 0 1.0
¥ FHT 4 104 1 24 0 0 35
FEER 531 31,929 397 24,761 226 14,396 1,749.9
FEH 7 222 7 222 0 0 9.2
#kFth 2 74 0 0 0 0 1.5
gELLTh 15 455 12 356 14 435 30.7
AREEH 15 993 15 993 15 846 68.3
¥FHE™ 7 1,278 7 1,278 7 1,275 100.7
xR Th 28 1,150 8 428 1 16 38.3
AT 23 1,261 19 1,012 4 187 60.0
ket 23 641 15 437 9 277 36.3
EETh 17 916 8 465 13 769 57.1
BT 10 1,476 8 1,001 0 0 61.2
T 1 73 0 0 0 0 2.2
Bsmth 4 95 4 95 3 77 7.0
R 17 1,259 10 964 0 0 52.0
JI\FHKh 2 55 1 24 0 0 2.0
REJIITh 9 801 6 677 6 551 56.2
EZZmH 20 708 17 574 15 467 39.4
=P 12 301 12 301 3 40 14.7
PO E T 4 110 3 100 1 44 5.8
M4 ETh 16 958 14 901 10 603 55.5
J\#Th 1 78 0 0 0 0 2.3
ENEa™ 11 497 5 225 3 131 22.8
=Bt 7 238 5 174 0 0 9.5
A EfaTh 11 755 11 755 10 750 55.2
[T 23 1,952 20 1,461 0 0 77.8
EFEWHh 76 4,488 58 3,325 56 3,393 278.5
LU 6 325 6 325 0 0 135
WA 26 1,144 21 980 4 231 56.4
KEBEm™ 12 1,007 7 730 3 631 62.2
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
B 2 FHHET 1 22 1 22 0 0 1.1
S HT 6 505 0 0 0 0 14.9
el T 10 378 10 378 8 327 28.3
Ed=1:] 22 1,143 18 1,067 5 334 58.6
B EHMT 6 670 2 111 1 42 22.8
N+ EHT 5 730 4 713 2 332 38.3
Z L ET 2 91 2 91 0 0 3.9
182 ST 14 929 6 509 0 0 33.4
— = HT 6 457 6 457 1 48 20.1
2PN 1 627 1 627 1 627 54.4
REM 1 699 1 699 1 94 34.0
=kt 6 1,079 6 1,079 6 1,079 79.1
R ARHET 9 135 6 84 2 30 6.7
KralT 20 688 20 688 8 360 43.0
KNZEHT 15 357 13 323 13 315 28.8
15075 BT 1 25 1 25 0 0 1.2
SETFAET 1 85 1 85 1 85 5.1
RIRED 4 32 1 4 2 11 0.9
EHsth 2 23 1 4 2 11 0.6
e 1 2 0 0 0 0 0.0
FFtth 1 7 0 0 0 0 0.2
HE)E 30 1,180 11 366 5 150 38.0
Tixth 4 103 2 60 0 0 3.9
AR 4 125 4 125 4 125 9.2
INAETH 8 185 3 96 0 0 5.8
2 4IETH 1 7 0 0 0 0 0.1
=@t 6 349 0 0 0 0 7.0
Z5mh 1 25 1 25 1 25 1.9
=W NG 2 203 0 0 0 0 3.6
K0 1 3 0 0 0 0 0.1
FERARTH 1 60 1 60 0 0 2.7
%EEATh 1 67 0 0 0 0 1.3
Ealpdi) 1 54 0 0 0 0 1.5
Z I ET 0 0 0 0 0 0 0.7
=] 198 7,529 176 7,188 115 4,383 375.2
B pFh 2 24 2 24 0 0 0.8
ELTEH™ 1 16 1 16 0 0 0.3
&ZREETH 7 80 7 80 1 26 3.9
eI 9 686 9 686 9 686 29.7
y=Ki] 2 13 1 8 0 0 0.5
ELSTH 23 540 23 540 15 340 33.6
E7ILIT AT 12 1,123 12 1,123 1 102 41.9
db#trh 90 2,650 71 2,325 65 2,302 189.9
FH2Eh 3 168 3 168 1 3 6.7
B MTh 14 901 14 901 1 36 26.6
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
B 9 762 9 762 8 699 22.0
PR 2 54 2 54 0 0 2.2
1| = 4ER T 5 77 3 65 0 0 3.0
5 JEHT 7 63 7 63 6 60 48
= JIHT 10 161 10 161 8 128 8.4
= ] O AR ET 1 210 1 210 0 0 0.8
INEH 1 3 1 3 0 0 0.1
RHR 794 42,616 495 28,632 461 30,492 2,331.7
E&FHH 32 887 19 476 5 381 39.7
WATH 50 3,293 32 2,255 32 2,536 189.4
EHEH 12 3,598 9 3,552 6 1,683 168.5
ARG 3 21 0 0 0 0 0.5
fRETH 12 365 5 226 6 243 17.1
imEATH 4 257 4 257 4 257 20.7
AIRTh 14 1,098 11 347 9 919 46.9
INEETH 7 261 1 45 7 261 13.0
FITH 32 2,403 22 2,151 20 938 109.5
Ens iR 7 1,242 7 1,242 7 1,127 88.5
¥ h 11 1,256 6 148 6 824 43.7
KETTH 32 1,591 24 1,394 20 1,348 114.3
fRiuth 28 888 27 860 27 906 70.5
*5Hh 16 660 10 463 9 429 37.4
IERm™H 8 2,144 2 20 8 2,141 104.7
EAT™H 10 522 4 166 4 156 23.7
Fehith 6 135 4 68 0 0 4.9
R ETH 24 1,093 24 1,093 21 1,038 67.7
=EHtH 56 4,160 41 2,006 50 3,580 245.0
I\ T 13 219 0 0 0 0 4.6
JI B4 8 1,153 8 1,153 0 0 35.5
EESE S| 2 124 0 0 2 124 3.6
LR ] 1 125 0 0 0 0 2.8
{E AFEHT 5 213 5 213 5 213 14.2
BE IR ET 1 12 0 0 0 0 0.2
SLFLET 10 676 10 676 7 458 40.3
A 6 157 1 20 5 141 10.1
R ANHET 1 453 1 453 1 453 33.2
T EREAHT 1 2 0 0 0 0 0.0
=T RHET 10 652 7 346 4 299 33.9
JR#F 9 835 1 20 9 835 48.8
= EFHT 15 245 15 245 6 121 15.9
H dm AT 12 753 9 578 7 353 31.4
B S HET 1 1,061 1 1,061 1 1,061 76.6
e Hom T 8 599 5 518 1 169 21.4
ch )1 £ 23 688 22 685 23 688 47.0
=B 1 192 1 192 1 192 15.4
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
NI 9 374 6 208 6 150 13.6
= FRET 27 414 1 3 21 381 19.4
BRI T HHT 13 32 0 0 0 0 1.0
RA] &5 £ 24 189 12 132 0 0 7.7
R P 17 64 0 0 0 0 1.8
TS 8 40 0 0 0 0 1.0
RKAEEFT 3 19 1 7 0 0 0.6
REFH 3 16 1 5 0 0 05
BARH 4 127 4 127 4 127 7.6
2E5 1 547 1 547 1 437 29.5
KEH 3 27 3 27 0 0 1.1
I ¥AHET 2 26 2 26 0 0 1.2
K & HT 23 159 7 59 15 112 9.8
REF 2 58 2 58 1 49 2.6
REF 1 14 1 14 0 0 08
KEHT 3 66 3 66 1 50 3.1
RRAEFT 2 4 2 4 0 0 0.2
A IR A 8 95 8 95 2 44 4.9
LI 2 44 2 655 0 0 2 655 28.8
ISR ) 2 309 0 0 2 289 11.9
AL 1 2 0 0 1 2 0.1
t EHET 1 846 1 846 1 733 59.3
NI 1 954 1 954 1 803 68.0
B E# 14 404 12 269 9 366 29.9
INDS FF 10 107 5 75 1 40 5.7
SR BT 6 196 6 196 6 196 13.1
1N fie T 1 330 0 0 1 229 11.8
= LA 26 307 13 233 10 187 14.1
L/ AT 5 391 4 254 5 391 18.1
REFH 16 344 11 234 19 453 28.5
BRI SRFT 5 93 3 56 5 93 6.7
S = HT 23 674 20 571 20 617 51.6
IN & 10 64 0 0 0 0 1.6
£ 458 ET 12 399 12 399 0 0 18.1
&t 15 236 15 236 14 214 17.3
55 [ I8 235 14,686 203 12,981 127 10,524 782.3
B2 [Eh 37 949 34 908 15 427 38.1
AT 39 4,498 34 4,069 35 4,376 202.6
JAETh 3 115 1 85 1 85 7.6
=Bm 4 119 2 54 0 0 3.9
ET=mh 4 149 4 149 0 0 6.8
{RET™™ 2 39 2 39 2 39 3.2
EHEth 14 1,041 12 542 4 852 43.6
Etm™ 5 692 5 692 0 0 27.7
A2 7 595 7 595 6 331 42.4
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
FEETh 6 159 6 159 5 138 115
BT 31 2,023 30 1,904 23 1,510 129.5
AR Th 9 185 9 185 3 45 9.7
B 15 7 218 5 145 0 0 8.6
RHTH 15 2,150 14 1,987 7 1,655 148.2
TBETH 1 57 1 57 0 0 2.3
T Th 13 255 3 79 12 243 14.4
FEh 5 77 5 77 0 0 3.2
{EN AT H 3 103 3 103 1 19 3.6
FHlth 8 420 8 420 4 234 26.9
Wzlgmh 8 455 7 375 6 405 26.9
A HT 1 3 0 0 0 0 0.1
sa)EHT 1 20 1 20 0 0 0.7
N 2 8 2 8 0 0 0.4
Fa{F S HT 1 11 1 11 0 0 04
R HET 1 89 1 89 0 0 3.0
/N BT 4 70 3 64 0 0 3.4
= HHET 1 18 0 0 0 0 05
JI R A< BT 2 49 2 49 2 49 2.8
FRAET 1 117 1 117 1 117 10.4
BEER &t 3,500 210,380 2,469 158,788 1,406 93,384 10,430.5
Fialg 1,073 125,096 870 120,314 506 61,356 7,085.5
et 137 28,704 130 28,447 77 22,496 1,423.5
K 58 11,238 58 11,238 20 1,820 608.3
=%&mh 6 5,999 6 5,999 3 1,165 334.6
FEZ T 99 3,183 94 2,930 51 2,321 232.4
HFEBETTH 1 9,182 1 9,182 1 3,487 491.1
INFATH 7 1,792 7 1,792 5 1,142 128.0
Bt 3 255 3 255 0 0 6.1
+ BHETH 95 3,704 72 3,185 48 2,406 245.6
Iz 1 2,506 1 2,506 1 411 140.9
MLt 8 5,982 8 5,982 5 2,286 325.1
FHETH 1 5,042 1 5,042 1 3,978 367.6
Sl 1 1,540 1 1,540 1 657 101.4
whETh 16 1,893 14 1,872 11 1,746 144.2
HR™M 11 4,159 7 4,039 6 1,689 232.0
Li#h 304 12,941 250 11,736 159 7,938 896.7
M 85 mh 2 2,991 2 2,991 0 0 125.2
‘EE™ 113 6,245 96 5,895 0 0 291.7
fiBtHh 67 2,642 53 2,420 55 2,418 171.0
rAABhH 12 6,237 12 6,237 12 1,113 312.3
e 1 2,249 1 2,249 1 246 107.4
EDZEMT 14 647 4 307 4 307 37.0
INEAT 14 964 5 343 12 729 61.0
H _E T 3 590 3 590 0 0 32.1
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
BRI 2 T 37 471 0 0 0 0 14.1
H 2 IR T 18 270 11 211 7 133 17.2
iz T 3 157 3 157 2 78 9.6
R ET 18 2,099 17 2,040 19 2,061 154.8
pPES 11 397 6 226 1 42 175
ESJIES) 12 1,019 4 902 4 691 57.0
SR 1,030 41,979 882 38,070 280 12,610 2,1935
st 175 8,131 144 7,512 59 3,203 463.0
=St 127 4,152 97 3,488 40 1,277 205.3
£iETH 48 1,295 40 1,149 6 297 65.2
KR 67 1,859 64 1,824 53 1,572 128.1
AT 41 1,376 28 968 7 277 66.3
25t 54 1,960 47 1,771 19 641 103.7
il 93 3,690 78 3,336 16 624 175.7
INEERTH 81 3,059 75 2,916 22 931 164.7
Eaihil 153 5,901 152 5,857 27 1,116 290.7
/K th 75 3,057 66 2,775 3 118 1249
FHEH 0 0 0 0 0 0 7.5
T 1 49 1 49 0 0 33.5
37 LA 18 3,299 15 3,200 6 1,152 139.9
AEHT 65 3,324 47 2,504 14 1,113 178.2
2A B HT 32 827 28 721 8 289 46.8
BIE 609 26,113 430 22,426 86 3,925 1,257.8
£iRth 109 1,926 81 1,696 26 669 117.4
tEth 90 1,933 68 1,579 5 70 91.8
INATH 45 3,023 45 3,023 0 0 128.8
el =] 77 954 53 702 8 147 49.0
KMt 16 714 13 654 0 0 28.2
ME™ 56 1,883 25 902 0 0 76.0
PFIVETH 1 2,113 1 2,113 0 0 86.4
MIFELTH 5 754 5 754 1 122 44.7
=[G 42 3,643 20 3,212 11 1,618 198.2
BEETH 1 1,168 1 1,168 1 156 57.1
¥rAamthmh 3 72 2 43 1 10 3.2
JIAEET 1 736 1 736 1 84 33.1
pE A i 32 1,049 27 937 4 189 66.9
Rk T 1 994 1 994 0 0 10.7
= T 67 1,814 37 1,119 1 7 74.9
F 1= & /KHET 16 638 16 638 0 0 38.4
o HE B HT 33 1,300 20 758 16 532 76.1
7V JKHET 13 290 13 290 10 206 22.4
e S HT 1 1,110 1 1,110 1 116 54.5
mHE 492 31,628 470 31,117 346 25,347 2,374.5
tEHH 188 6,357 183 6,203 146 4,786 460.1
HEH 1 431 1 431 1 431 35.2
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HEINE | dgEsy RERRBERECR) NREEN BEERBERM) HREEN NRERBERK)| (B BEM)
INETH 2 1,155 2 1,155 2 1,033 90.9
KEH 60 3,446 47 3,148 32 2,602 257.6
R LU 18 1,470 16 1,441 12 1,279 113.5
5 Imh 10 1,845 10 1,845 10 1,588 143.2
HHLH 6 2,828 6 2,828 6 2,818 222.7
AT 72 2,997 72 2,997 66 2,769 243.0
RHFTH 6 4,942 6 4,942 3 3,026 335.2
7K JE S HT 28 829 26 799 19 686 62.7
R ET 1 355 1 355 1 341 30.0
7 8 AT T 7 967 7 967 3 796 69.8
BRI T 48 917 48 917 40 823 72.6
3% T 1 669 1 669 1 664 57.5
e T 15 238 15 238 3 104 15.8
HHU T 28 546 28 546 0 0 27.1
= JRmT 1 1,636 1 1,636 1 1,601 137.6
JekE &t 3,204 224,816 2,652 211,927 1,218 103,238 12,911.4
sz B2 18 614 25,024 509 23,756 422 18,888 1,679.3
=11 14 852 13 829 8 431 42 1
KiEth 11 591 9 505 2 145 31.1
= T 70 2,835 70 2,835 68 2,792 199.3
ZaRth 3 34 2 28 1 17 1.8
Eil] 42 1,701 42 1,701 34 989 94.6
E) T 32 1,037 31 1,011 38 1,176 90.5
EET 2 68 2 68 0 0 3.2
Rt 7 112 7 112 5 78 6.7
PIETH 11 635 11 635 3 149 29.9
EAth 47 1,112 37 1,029 41 1,249 97.1
XiEmxET 15 234 7 78 1 9 7.9
Tixth 3 129 3 129 3 129 105
&#HIR™ 3 110 0 0 2 87 6.3
AR 4 119 4 119 0 0 5.6
W2 3 184 3 184 0 0 8.5
mfEth 1 479 1 479 1 405 31.0
FreEE th 23 608 23 608 30 768 54.2
AEH 35 1,002 34 984 21 584 58.8
AMETH 116 1,534 59 1,052 52 722 84.6
T2t 26 712 26 712 23 684 55.0
dmiE™h 10 2,224 9 2,208 2 1,980 172.3
EZH 24 1,909 24 1,909 19 1,468 132.9
T 6 893 6 893 5 703 62.9
RS 4 [ HT 10 84 1 11 1 10 3.1
8 = HT 9 257 5 149 3 89 12.9
i Z P ET 2 1,082 2 1,082 1 557 67.1
Z J\HT 3 157 3 157 1 15 5.8
125 )I| BT 31 985 30 932 33 1,014 79.3
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
K EFHT 1 1,270 1 1,270 1 1,084 84.3
;th AT 10 648 10 648 9 628 50.8
Y #5t BT 5 207 5 207 5 207 13.8
= ANHET 9 286 8 279 3 165 175
JI 3BT 2 18 2 18 0 0 0.8
=T 12 72 8 60 0 0 3.1
J\BEHT 3 61 3 61 0 0 2.7
=L 5 490 5 490 5 449 35.0
R A JIF 1 159 1 159 0 0 6.9
{H = HT 2 28 1 17 0 0 1.0
=k 1 106 1 106 1 105 8.4
gl 418 33,464 347 29,640 214 22,245 1,926.6
A ] 6 201 2 27 5 168 12.9
28t 29 3,330 20 2,305 21 2,620 175.5
Fall=a] 32 1,347 28 1,279 1 33 58.3
— BT 13 422 10 291 0 0 15.9
N =N ] 1 10 1 10 0 0 0.5
X HHh 3 97 1 34 3 97 7.6
HHBHHT 2 25 1 19 1 19 1.7
2t 6 361 4 214 4 290 22.6
EBET 4 281 4 281 2 103 11.8
Z2Emh 5 746 5 746 0 0 27.1
N AT 9 595 9 595 8 484 40.2
a0 7] 88 2,648 60 2,348 18 1,230 165.2
I th 33 3,024 33 3,024 33 3,018 244 8
mE™ 10 4,229 9 4,118 8 3,413 235.4
sEHARTh 7 186 7 186 0 0 5.7
wiath 12 945 12 945 7 260 47.4
N TR 4 170 4 170 0 0 7.6
NG ] 12 2,740 9 1,794 2 1,032 96.5
i th 27 559 26 554 19 453 41.2
RiEh 3 103 1 66 3 103 6.2
KRFmh 4 161 3 119 1 41 7.6
1] 5 518 5 518 3 343 29.1
XN3Lmh 2 95 2 95 0 0 4.2
EiEIET 1 12 1 12 1 12 0.9
=Rt 1 102 1 102 0 0 4.5
SRt 1 80 1 80 1 80 6.9
HEREH 19 3,895 19 3,895 18 3,596 2105
Zmth 32 1,478 32 1,478 23 1,066 87.4
EZATh 2 37 1 20 2 37 2.4
e 3 1,476 3 1,476 3 1,476 129.1
HEH 8 159 6 119 5 97 9.5
RAFTH 1 38 1 38 1 38 3.3
yNyuli 2 33 2 33 0 0 1.8
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
22T HT 1 26 1 26 1 25 1.9
e S+ 1 560 1 560 0 0 24.8
Ba] A L ET 7 352 7 352 7 352 28.4
BT 4 248 2 176 4 225 14.9
A %0 % HT 3 469 2 42 0 0 10.3
SEHT 3 474 3 474 3 466 37.4
E 2T 2 185 0 0 2 185 11.7
=2 FHHET 1 964 1 964 1 859 713
5% ZEHT 5 74 3 46 2 22 3.9
BRSR HT 4 9 4 9 1 2 05
=58 693 27,399 506 22,283 118 8,117 1,350.4
#Eh 113 3,573 81 2,666 22 889 178.1
=kl 51 1,497 30 872 3 143 57.8
{BFEH 28 1,940 26 1,891 18 1,375 109.5
N 86 3,665 46 2,317 19 1,279 180.9
AT 28 1,440 22 696 3 190 61.6
$5EETH 26 1,391 17 1,070 8 553 73.9
2R 24 565 20 492 6 155 30.3
EBE™ 1 3 1 3 0 0 0.1
g1 17 452 4 151 0 0 15.1
EPmh 2 39 2 39 0 0 2.1
AeErmh 4 21 4 21 1 9 1.3
LNEEARTH 54 1,516 49 1,362 4 107 71.2
SEETh 4 99 0 0 0 0 2.8
FET™H 107 4,099 100 3,912 9 460 201.7
A B H T 1 405 1 405 1 405 32.4
Y=L 2 570 2 570 1 333 33.3
P EF HT 10 1,380 10 1,380 9 1,332 98.5
RS 3 46 3 46 0 0 2.4
% UHT 16 1,100 14 1,065 3 406 45.9
BAFOET 20 1,206 20 1,206 2 60 43.7
Ke T 21 114 5 37 0 0 3.7
EIAT 21 1,283 20 1,278 3 322 61.0
E=HT 11 175 9 161 4 81 10.5
K#cHT 21 200 6 108 0 0 7.7
e R EAET 5 60 5 60 2 19 3.3
fC AL ET 7 80 1 10 0 0 2.5
{E0EHT 3 354 3 354 0 0 13.4
#C E HT 7 127 5 111 0 0 5.5
R & 1,725 85,886 1,362 75,679 754 49,250 4,956.2
HEE 728 37,673 656 35,990 72 3,859 1,390.9
Kz 30 1,079 18 861 1 27 33.9
[EXichi] 45 2,005 42 1,949 0 0 63.1
RE™ 155 5,711 138 5,273 4 137 194.0
IIpAWA:357] 60 4,015 56 3,916 2 78 130.2
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
BEEmH 13 462 13 462 0 0 14.9
SFLUTH 21 1,380 16 1,186 2 206 51.9
ER™ 14 286 12 261 0 0 9.2
FEMH 90 3,066 90 3,066 18 654 130.3
B3 Th 33 1,990 26 1,815 1 61 65.0
AR 10 460 10 460 3 245 25.0
=58mH 84 3,859 84 3,859 34 1,374 178.1
[ BligiN ] 3 6,954 2 6,948 1 851 282.0
XAt 34 1,430 22 1,160 1 9 45.1
=ESi) 54 1,601 48 1,462 3 98 56.1
ETH 24 1,151 24 1,151 1 42 39.4
=BT 24 953 22 903 1 77 30.9
= JERET 6 304 6 304 0 0 10.0
B B HT 11 571 11 571 0 0 19.7
ZEHT 17 395 16 384 0 0 12.1
REB AT 610 15,473 578 14,686 523 14,469 1,2145
mETh 21 859 17 562 9 461 52.0
LAy 48 1,967 48 1,967 39 1,833 162.3
EEETHh 49 682 48 669 37 602 52.1
$EER T 71 1,257 67 1,190 62 1,110 98.3
FA™ 1 36 1 36 0 0 10.7
=2 21 292 21 292 22 313 25.3
& 71 2,152 70 2,130 56 1,770 163.9
35k PS Th 1 21 1 21 0 0 1.0
J\I&th 3 342 2 122 3 298 19.2
mHATh 7 237 7 237 5 209 16.5
mRET 107 2,977 104 2,941 104 2,904 229 .4
AT 97 1,820 93 1,751 83 1,696 1485
y =111 51 9 784 9 784 8 539 45.4
A (5D LI T 0 0 0 0 1 670 15.6
HFHT 2 49 2 49 2 49 4.4
55 HIRHET 1 14 1 14 0 0 0.7
FOZRHET 12 47 0 0 1 11 1.6
ra =T 3 56 3 56 3 56 48
RFHRHET 57 1,035 55 1,019 59 1,101 90.8
{FIRHT 6 101 6 101 6 101 8.6
5 &g ET 23 746 23 746 23 746 63.5
K B FiF 44 1,615 0 0 0 0 45.7
RBH 4 135 0 0 0 0 3.8
E AT 1 56 0 0 0 0 1.2
2t 1 4 0 0 0 0 0.1
= h] 2 153 0 0 0 0 45
Bixth 5 77 0 0 0 0 2.1
WA™ 1 27 0 0 0 0 0.8
*RATH 1 7 0 0 0 0 0.2
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
SIESTH 6 220 0 0 0 0 6.6
= H#MTh 2 74 0 0 0 0 1.7
SARNEE™ 1 10 0 0 0 0 0.3
UNEG ] 1 21 0 0 0 0 0.6
MR 8 121 0 0 0 0 3.0
EiET 1 9 0 0 0 0 0.3
ST 2 22 0 0 0 0 0.6
PO (s % i 1 26 0 0 0 0 0.7
M rE ™ 1 31 0 0 0 0 0.9
S RefT 1 16 0 0 0 0 05
HESAHT 2 545 0 0 0 0 16.3
sa] rE T 2 59 0 0 0 0 1.4
F B IRBR 44 1 4 0 0 0 0 0.1
EEE 1,981 50,997 1,912 50,069 1,454 39,824 3,856.3
AFE T 113 3,566 107 3,479 83 2,984 269.8
IEERTH 104 2,166 97 2,100 86 1,742 165.5
BAATH 11 329 10 317 10 197 14.3
Fizy=a1] 1 21 0 0 0 0 0.5
NATH 66 1,837 59 1,775 57 1,641 147.9
HET 24 375 24 375 5 76 21.0
2Rt 121 2,939 121 2,939 77 2,194 228.3
g 51 1,191 51 1,191 28 555 78.1
IRFETH 20 689 17 581 9 342 38.9
T 50 906 48 869 38 686 68.5
FIXTH 12 282 10 257 7 191 21.2
=Kt 93 2,481 93 2,481 63 1,811 187.8
=fbmh 6 165 0 0 0 0 4.4
INEFTH 51 2,104 51 2,104 48 1,780 165.6
=HEth 63 1,506 63 1,506 44 1,147 119.0
IneEt 109 3,454 108 3,445 107 3,163 278.1
Elth 102 3,622 99 3,566 80 2,844 276.5
=341 7] 69 920 62 890 38 662 67.2
FigRth 104 4,484 104 4,484 90 3,622 331.2
EHHLH 83 2,837 83 2,837 64 2,364 221.6
EAETh 77 1,137 75 1,126 46 716 81.2
RIRTH 65 1,548 63 1,501 52 1,367 120.0
REH 59 1,011 57 990 33 664 74.6
JNETT 75 2,599 74 2,585 68 2,319 212.3
=elOhi] 75 1,664 75 1,664 57 1,367 119.3
¥4 )BT 12 137 10 120 6 86 9.2
% o HT 58 1,066 58 1,066 52 983 89.9
Fig SSET 27 1,475 27 1,475 22 1,229 115.7
I BT 36 652 33 632 29 476 49.2
fa iz T 26 610 24 579 20 467 47.8
£e5a] ET 36 594 36 594 23 433 45.3
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
NFHT 14 183 11 157 6 83 10.1
I ARHET 31 585 30 565 16 273 35.3
{& FRET 70 893 66 857 33 492 62.4
& EHT 26 296 26 296 23 271 24.7
Hrim SR ET 41 671 40 663 34 598 54.0
=RE 270 5,832 199 4,466 158 3,907 354.2
ZRmH 38 995 24 661 17 573 61.4
RKIESHE™ 12 86 0 0 0 0 2.3
AFNESLLTH 30 635 29 621 27 570 50.9
KIEtH 32 624 27 538 23 476 45.3
Rt 14 234 9 181 8 170 15.6
FFh 8 190 5 145 5 145 11.3
HigtH 30 1,148 17 683 15 774 51.7
ElFrTh 2 27 2 27 2 27 2.2
2imth 11 224 11 224 11 224 17.8
Fpeth 27 397 27 397 16 255 26.3
S REMT 9 137 7 127 6 112 8.5
BErE T 4 111 3 62 2 43 6.0
JII e T 1 17 0 0 0 0 0.5
==EHfT 2 23 0 0 0 0 0.7
FH [ A< HT 9 160 7 116 3 76 10.8
ERL A 0 0 0 0 6 82 3.3
= BT 8 106 7 97 0 0 43
B B &4t 7 90 7 90 0 0 3.8
1 B2 ET 16 432 15 403 13 265 22.7
Al & HT 6 93 0 0 3 29 3.8
KiHT 3 17 1 7 0 0 0.6
TrhHET 1 88 1 88 1 88 4.4
SISy 371 10,071 160 4,879 127 4,094 389.9
It 1 18 0 0 1 18 1.0
BETh 36 1,062 3 76 8 390 30.3
BT 8 137 5 106 0 0 5.3
EH™H 10 314 1 31 0 0 6.7
E#rh 6 177 6 177 5 129 11.7
HiAtHh 20 630 0 0 0 0 12.7
=™ 1 41 0 0 1 41 2.9
feDITH 53 1,804 47 1,677 47 1,616 102.5
y=duslii] 2 37 2 37 1 17 2.2
O EFFHT 10 62 2 18 2 18 2.0
MDD EHET 18 392 9 291 3 134 15.9
= FrET 1 6 1 6 0 0 0.3
ik BT 5 346 0 0 0 0 6.9
I )1 BT 14 459 12 450 10 344 23.3
EHJIET 48 1,494 15 613 14 468 47.0
H = /BT 19 169 0 0 1 19 5.8
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
R HT 3 76 2 65 2 64 4.3
N ET 7 137 7 137 5 112 9.3
FrTR AT 36 1,594 16 529 7 241 45.2
B )IET 34 415 13 261 8 214 19.4
=P 17 325 12 224 5 142 18.7
L = HHAE 13 217 4 68 5 85 8.9
9§ SAHHT 3 42 1 24 1 19 2.2
AR 25 35 SR T 3 100 2 90 1 24 47
1 FE I BT 3 20 0 0 0 0 0.6
g &t 4,004 121,663 3,505 110,089 2,334 66,154 7,251.4
J=N: ] =] 713 16,394 465 12,320 445 12,058 1,090.2
Emth 152 2,943 122 2,557 97 2,023 200.8
*Fh 40 960 25 622 9 326 49.6
==l 88 2,101 45 1,442 43 1,495 127.9
3= peiays] 1 92 1 92 0 0 2.8
= HT 13 509 13 509 7 397 39.3
&t T 6 64 1 6 1 6 2.2
2 EaHET 27 246 21 191 3 47 12.7
J\EEHT 62 1,136 58 1,080 52 1,018 86.7
= &AMET 1 356 1 356 1 356 31.1
i 5 T 26 390 11 203 13 243 21.4
= hHT 42 1,071 27 776 38 1,024 79.8
b S BT 24 1,515 22 1,454 15 1,125 84.3
5EM 1 50 1 50 0 0 2.6
K LLIET 71 1,957 53 1,339 59 1,607 136.3
e SR ET 35 579 23 434 26 499 44.6
{BEHET 32 626 7 142 26 564 42.4
H Ea /T 37 1,127 25 940 26 906 86.1
H EFET 27 256 5 82 12 137 145
L ¥ ET 28 417 4 44 17 286 25.4
SRR 656 22,776 554 21,385 402 16,497 1,570.9
WL 83 2,298 58 1,835 34 1,187 135.4
AEHET 32 1,154 26 1,082 13 841 84.3
HEH 88 5,395 76 5,165 55 2,902 350.6
AT 29 674 27 664 5 322 32.5
KHETH 75 1,311 50 1,037 54 1,021 93.5
ZEth 97 2,201 78 1,993 63 1,535 156.4
ARE43] 14 413 14 413 6 167 22.7
ErTh 91 1,949 89 1,941 78 1,757 156.7
B SE T 9 2,558 9 2,558 9 2,556 206.5
=L 22 1,086 22 1,086 22 1,086 89.6
JI| A<ET 14 146 12 139 4 53 8.8
S JERET 28 293 28 293 12 106 17.6
=Xeali) 8 1,638 8 1,638 8 1,638 140.5
SEFNEFHET 36 480 34 465 19 280 33.0
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
ST 10 169 10 169 4 94 11.7
BT HT 1 111 1 111 1 111 4.4
7h/ ST 1 338 1 338 1 338 2.7
X Ft 1 244 1 244 1 244 1.9
EGIRI=T:] 17 318 10 215 13 260 21.9
i (L 1 537 15,671 365 12,236 183 7,123 870.7
FalliG 66 3,391 59 3,276 0 0 160.5
R8T 1 614 0 0 2 621 25.8
FEth 60 2,455 43 2,306 33 1,942 172.0
E®Hh 1 19 0 0 0 0 0.6
Z ™™ 10 806 4 609 3 738 32.2
HEH 10 414 10 414 4 227 24.9
xth 1 55 0 0 0 0 1.6
=2t 34 318 5 55 0 0 9.8
FRT 33 327 4 56 2 24 11.3
&Rt 13 165 3 73 3 73 8.0
HARA™ 3 111 1 45 0 0 4.1
FREETh 17 348 7 142 0 0 13.0
HRE™ 16 378 15 369 2 42 19.2
=1kt 21 355 21 355 9 143 23.0
Ot 1 480 0 0 0 0 11.0
AT 17 247 4 67 1 42 10.2
S HMRT 10 338 10 338 2 96 19.2
HIEF 9 115 4 59 4 57 6.4
FRETHET 46 817 37 740 26 419 50.4
gy ST 19 372 7 101 6 73 14.9
=& 18 605 14 529 17 588 46.6
AAREH 1 11 1 11 0 0 0.6
A KT 26 610 12 371 17 481 41.8
SE I HT 45 1,037 45 1,037 23 626 71.8
= i AP SR T 59 1,285 59 1,285 29 931 91.8
LER 837 19,222 571 15,808 143 7413 1,177.2
INZTi] 15 221 10 192 0 0 9.9
IR 1 9 1 9 0 0 0.4
=g 92 2,140 75 1,905 19 925 139.7
e 19 247 4 102 0 0 8.0
faluth 7 92 0 0 0 0 2.7
ezl 22 322 22 322 12 203 24.3
=xmh 165 3,646 154 3,543 25 1,241 229.3
Rt 217 3,894 95 2,208 15 413 181.3
Kirmh 7 90 0 0 0 0 2.5
RILBTh 41 2,566 38 2,500 15 1,684 188.4
nl=hiini] 14 137 0 0 0 0 4.1
R=a AT 61 1,170 24 651 0 0 45.0
IHE™ 6 34 6 34 0 0 1.2
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
T =K HHET 37 330 15 135 0 0 12.2
dt 5 EHT 61 2,038 57 1,953 31 1,398 158.7
K& _F ST 2 26 2 26 0 0 1.1
T g BT 51 1,894 49 1,861 22 1,473 148.1
HA S ERT 19 367 19 367 4 77 20.3
Ifjmy=! 333 21,123 316 20,876 197 16,593 1,639.3
TEEth 28 4,549 28 4,549 19 4,230 382.0
FERTh 21 847 17 742 10 588 60.1
LA 37 5177 36 5173 25 3,949 3925
Fth 61 2,222 61 2,222 40 1,617 160.2
b5 R 7 1,115 7 1,115 4 767 81.9
Tiath 5 61 5 61 4 55 5.1
ESET 37 700 34 660 16 351 46.2
Seth 6 273 6 273 3 126 17.1
K 13 1,777 13 1,777 8 1,637 156.7
WFHFh 24 470 23 442 14 330 36.2
EMmh 27 1,591 27 1,591 18 1,395 129.1
FErath 32 790 29 745 22 496 57.7
W5/ NEF 18 688 18 688 12 360 45.4
JE Bh K SHT 8 70 3 45 0 0 2.2
FH % f BT 1 337 1 337 1 330 29.6
S 4 HT 3 14 3 14 0 0 0.6
BT EC T 5 443 5 443 1 363 36.7
hE F 3,076 95,186 2,271 82,625 1,370 59,684 6,348.3
mER 183 10,717 156 10,358 110 7,787 684.8
mEth 14 1,512 13 1,500 6 696 82.0
NEF9th 17 1,071 17 1,071 16 819 50.3
INDRETH 8 973 8 973 8 851 75.8
FAI g Th 42 2,627 40 2,610 34 2,444 209.7
E G 5 261 5 261 4 132 14.6
Bl Th 20 2,336 20 2,336 17 1,748 152.7
£ET 10 265 9 261 6 181 17.8
=ifh 3 189 3 189 2 83 8.5
i 5 360 5 360 5 346 21.1
I BS5HT 10 82 8 66 0 0 2.7
A FHHT 2 52 2 52 1 7 2.7
68 | LI T 1 5 0 0 0 0 0.1
AR HT 9 98 2 20 0 0 3.3
£ |Ig; BT 10 136 10 136 5 88 10.2
35K T 10 84 8 76 0 0 3.8
yBIZHET 10 175 2 18 2 18 6.3
Hr ErET 4 125 1 64 1 41 5.3
DAHEHT 3 365 3 365 3 333 17.9
EIIE 388 13,844 256 11,453 182 8,930 906.2
=#Th 34 2,505 21 1,644 14 1,216 136.2
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HEINE | dgEsy RERRBERECR) NREEN BEERBERM) HREEN NRERBERK)| (B BEM)
HEM 25 1,669 22 1,618 16 1,278 123.1
IR 7 195 7 195 0 0 7.4
EWEFT 29 649 18 501 9 286 36.2
=il 43 2,038 41 2,017 38 1,895 165.5
cHEM 35 652 18 415 11 230 36.8
R 28 372 6 173 8 173 20.7
=£ 75 2,541 55 2,362 47 2,204 190.1
T FEHT 5 57 3 49 0 0 2.4
ING SHT 5 54 2 28 1 7 2.1
= KHET 19 803 17 777 14 659 57.8
%% )| ET 29 842 14 667 13 457 50.0
EE LT 5 216 4 178 0 0 8.8
% [ R HT 7 278 4 189 1 70 13.7
FADSHET 42 971 24 640 10 454 55.3
ZIRIE 512 16,440 388 14,295 228 8,973 907.0
NI 36 958 36 958 19 436 47.4
5iath 28 895 27 880 23 726 63.2
FMEM 78 1,806 41 979 14 288 66.5
J\&;ETh 13 839 10 762 0 0 25.9
mEth 48 3,756 46 3,619 35 2,944 248.6
KM 24 314 4 53 5 105 12.2
FFtHh 22 841 21 832 13 669 54.1
PO E R 15 363 13 351 13 351 27.7
Ficl ] 102 2,689 78 2,471 53 1,680 154.6
Bmmh 20 934 16 730 8 464 54.1
+ EHT 2 16 0 0 0 0 0.3
AR S IRE 15 198 15 198 1 7 8.5
FARITET 13 573 13 573 13 521 42.5
R ERET 2 12 1 10 0 0 0.4
N FHT 22 658 22 658 0 0 22.8
FAHT 15 502 11 414 0 0 13.8
¥AEFHT 17 166 2 27 8 94 8.1
AL ET 24 495 24 495 15 352 32.3
Z AT 16 426 8 285 8 338 24.0
=50 341 9,597 243 7,115 255 7,955 690.9
=% 3171 9 494 6 379 9 484 39.2
Ey=N1] 10 252 10 252 1 6 10.3
T=Th 9 668 5 258 8 586 44.3
AETH 29 1,115 29 1,115 25 934 87.0
TiEth 3 86 3 86 3 86 7.0
ST 5 128 4 116 0 0 5.9
BET™ 17 613 17 613 15 553 49.7
TiEF/KT 14 361 14 361 14 345 29.2
A+ 50 1,338 40 1,207 58 1,422 110.5
Em®Eth 10 272 10 272 4 114 16.2
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
EFET 24 467 23 455 19 333 34.2
BUFHT 1 51 0 0 0 0 1.5
Z= 4 FI|HT 4 94 1 67 0 0 3.9
= HET 7 112 0 0 0 0 3.3
> 1S 1 35 1 35 1 35 2.7
B ERHT 1 9 1 9 0 0 0.4
=raFt 6 114 6 114 0 0 5.3
ZS 1L BT 1 10 1 10 1 10 0.9
T {EHT 10 265 9 254 4 70 15.4
LoD HT 4 30 0 0 0 0 0.8
th 1 {AHT 2 26 2 26 0 0 1.2
&)1 BT 10 217 8 191 9 207 17.9
i3 1 ET 19 184 6 62 9 112 8.0
¥R ET 0 0 0 0 6 291 9.2
H= % 1 127 1 127 1 127 11.1
JEETHET 18 150 0 0 0 0 3.9
P 5+ HT 44 1,746 14 473 37 1,649 122.9
X A HT 1 25 1 25 0 0 0.6
=R# 13 277 13 277 13 277 23.3
SR ET 18 328 18 328 18 314 25.1
Hi 1,424 50,599 1,043 43,222 775 33,644 3,188.8
£ i 8 987 39,812 788 35,234 173 12,665 1,998.7
dt 12 343 9 233 0 0 13.4
faRETh 14 292 6 239 0 0 12.0
KEHRT 8 425 8 425 1 175 19.2
A kth 08 5419 89 5,069 19 2,168 288.7
EW ] 5 134 3 57 0 0 5.1
fRixETH 44 929 10 300 8 224 39.5
H)llth 7 275 7 275 0 0 12.4
NG 25 3,769 24 3,728 18 2,951 241.6
J\Zh 39 890 23 576 6 204 34.8
BE™ 26 1,118 24 1,063 0 0 43.4
Kt 20 546 20 546 0 0 24.3
1ITHEm™ 22 792 22 792 0 0 32.7
2RIt 26 508 17 332 2 22 20.9
e 4 251 0 0 0 0 6.2
INBRTHR 26 1,601 23 1,539 8 546 81.7
RETH 19 394 13 238 0 0 17.1
EE ] 14 498 14 498 7 283 28.6
mE™ 5 146 0 0 0 0 4.1
22t 12 528 11 504 0 0 17.2
Sl 40 1,241 30 1,072 7 524 59.6
=& 26 1,056 19 823 0 0 39.5
=T 35 1,080 31 1,006 14 584 65.2
giEth 61 2,786 60 2,750 9 625 1325
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THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
HOFEH 43 2,128 41 2,056 1 147 100.2
=Tl 78 3,199 64 2,763 6 423 146.0
A LI ET 5 94 5 94 0 0 4.4
= EHT 1 19 1 19 0 0 05
IK & HT 4 41 3 33 0 0 1.9
[E] 15 T 14 352 5 142 2 29 13.3
=EMRT 7 370 7 370 0 0 11.9
IINPTHT 3 110 0 0 0 0 3.3
) 12 567 9 423 12 503 39.1
£ )I| BT 6 129 0 0 0 0 3.8
ZARITET 36 1,952 36 1,952 27 1,598 1395
BRUEFT 1 42 1 42 1 42 3.6
K J1 50T 17 1,049 17 1,049 10 807 66.1
R AHT 18 574 18 574 0 0 27.8
I )| BT 1 294 1 294 1 294 20.2
BEHET 1 25 0 0 0 0 08
iz EHHT 4 99 2 86 1 74 7.7
J 1| I BT 3 33 0 0 0 0 1.0
NAEHET 4 62 0 0 1 20 2.5
IRAT 10 86 1 17 0 0 3.0
eE 19 392 2 82 0 0 135
iy FH ET 9 211 9 211 0 0 9.8
AP ZHT 37 1,035 37 1,035 12 421 59.1
L EHRT 29 746 29 746 0 0 30.4
_FHT 37 1,183 37 1,183 0 0 49.7
EER 857 35,872 818 32,767 568 26,761 2,485.6
EE™ 133 6,978 107 4,097 100 6,073 495.8
FEiETh 103 5,065 103 5,065 96 4,724 342.8
Eitfth 12 476 12 476 0 0 23.1
AT 29 692 27 671 16 417 475
FREH 71 1,787 70 1,764 44 1,171 123.9
R Eh 71 2,497 71 2,497 52 1,690 173.7
A=hi] 7 1,766 7 1,766 6 913 106.1
INFTH 102 2,758 98 2,695 66 2,002 195.7
EEFTH 36 830 36 830 28 625 60.5
g Th 90 2,717 90 2,717 66 1,945 191.3
= By BT 26 586 24 568 1 14 28.3
591l 13 128 11 121 2 15 5.2
g HT 15 357 14 336 3 92 20.1
FXO=HT 36 1,749 36 1,749 2 497 95.2
2 g T 3 784 3 784 3 784 54.3
A HHET 15 202 15 202 6 89 13.9
X HT HT 5 243 5 243 5 243 20.0
;LA HT 20 993 20 993 18 914 78.3
=E=1ijj 67 5,176 66 5,104 51 4,467 404.5
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NEHT 3 86 3 86 3 86 5.3
RIGE 324 15,696 252 14,466 206 11,591 961.8
ol 7] 12 381 10 352 0 0 116
EtHE™ 61 1,532 49 1,288 46 1,102 95.0
SRt 2 933 2 933 2 611 34.5
=ETh 29 3,146 25 3,065 29 3,054 216.1
RKETth 16 256 12 221 16 210 17.9
ERT 25 971 10 625 9 521 52.8
WE™ 34 1,152 30 1,055 25 919 74.5
Xt ETH 11 168 6 125 11 168 10.8
=& h 1 1,655 1 1,655 1 1,320 119.9
HE™M 17 1,218 13 1,131 12 1,055 77.2
mEh 14 411 11 393 7 152 17.6
EZ\lmh 22 1,316 17 1,211 16 1,011 85.7
EEERT 25 885 21 862 7 311 46.3
KE5HT 2 11 2 11 0 0 05
R ;2 HT 1 14 0 0 1 14 0.5
R AT HT 20 564 16 534 12 500 35.8
J 11 AR T 9 213 8 200 2 56 11.0
SRz R ET 13 442 13 442 9 324 31.0
IMEEHT 1 260 1 260 1 260 16.5
£ < HT 9 168 5 101 0 0 6.4
AEARIE 577 73,250 378 67,002 346 52,018 4,085.3
BEATH 28 8,719 19 7,827 16 7,053 564.9
J\Xth 29 3,726 14 2,781 12 2,569 230.4
AS 4 582 4 582 1 474 40.2
mE™ 13 407 13 407 12 371 32.5
KIRTH 18 160 6 31 6 80 6.1
E&mh 21 3,092 17 2,993 13 2,774 236.5
e 1 4,455 1 4,455 1 4,455 333.4
Fith 8 4,485 7 4,481 5 4,214 304.1
Fimh 5 1,025 5 1,025 3 984 85.0
EXEM 27 362 24 337 23 313 23.0
FiRth 52 2,655 42 2,275 25 1,798 175.3
&% th 5 13,794 5 13,794 3 3,821 395.3
XETH 5 1,361 5 1,361 5 1,369 105.5
aEmh 15 656 13 604 4 301 32.9
S EHT 27 603 16 356 9 187 25.7
EHHT 3 188 2 105 2 105 9.5
e BE HT 1 425 1 425 1 425 30.2
FIMET 12 311 10 277 8 197 21.3
F7KHET 18 262 14 213 15 191 17.2
KIEHT 30 1,588 30 1,588 28 1,528 98.1
Ealitiin) 1 1,138 1 1,138 1 1,138 74.6
re /N E T 3 2,414 3 2,414 3 1,171 33.7

30




= b £ ST L

FiRME £ (2 R)

&iRF EXZ#h (RFan{L)

#B1E T R 4 R {TE%E

THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
/NE BT 28 809 2 15 27 785 30.8
FEE LA 18 1,301 0 0 0 0 11.1
= % HT 1 1,324 1 1,324 1 852 37.2
R 14 731 2 285 0 0 11.1
A Brl &R 4+ 1 1,842 1 1,842 1 1,249 99.6
{EN St T 21 737 21 737 20 597 48.9
= SHT 1 665 1 665 1 665 57.0
25 I HT 25 1,543 25 1,543 25 1,543 107.3
B {/C T 31 767 31 767 24 638 54.4
LI &R ET 25 3,025 25 3,025 25 3,025 211.6
FKJ I HT 1 1,267 1 1,267 1 1,202 92.6
I=p|d:] 37 412 3 44 0 0 12.0
B AKHET 20 166 0 0 15 141 7.6
FmET 1 966 1 966 1 966 82.6
%2 B KHT 1 1,106 1 1,106 1 1,106 92.0
iz RITET 4 441 1 386 4 441 31.1
KEF 11 173 0 0 0 0 5.2
R 1 563 1 563 1 398 39.0
LT AT 1 216 1 216 1 216 14.4
BREEFT 5 83 5 83 0 0 3.3
HIETYHET 1 2,465 1 2,465 1 2,460 1443
ZJCHET 3 239 2 233 1 217 16.8
RaE 732 24,000 581 21,340 124 8,367 1,267.4
Kot 28 588 28 588 1 113 30.1
Rl fF T 4 111 1 12 0 0 3.3
hiETH 57 1,654 41 1,351 10 420 83.8
HHATH 24 927 12 327 0 0 24.2
&gt 33 685 33 685 3 155 36.5
FA¥Fmh 52 720 39 562 9 208 32.9
PrETh 55 3,849 50 3,702 23 3,152 247.6
2R EHE™H 41 1,570 40 1,527 0 0 63.4
MEETH 74 1,618 47 1,334 17 949 98.6
FEmh 140 4,851 137 4,765 24 1,256 259.3
2R KXKETH 54 1,934 51 1,840 10 445 99.5
Rt 38 2,052 38 2,052 24 1,584 154.7
E®Emh 58 1,406 46 1,167 3 84 64.2
= Fau]ii]) 7 86 6 77 0 0 4.0
JLEHT 47 857 6 388 0 0 25.9
ATKHT 20 1,090 6 963 0 0 39.4
=I5 IR 468 25,142 313 18,530 211 10,350 1,255.4
= % h 95 4,769 81 4,072 54 2,105 234.7
ERsEimh 73 3,658 49 2,763 5 266 159.6
SEffl T 16 753 7 615 5 175 34.4
HEth 50 1,609 26 1,066 52 1,739 106.9
INFATH 31 2,857 31 2,857 13 1,603 151.9
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= b £ ST L

FiRME £ (2 R)

&iRF EXZ#h (RFan{L)

#HEFEA R {TE%E
THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
Hmth 10 536 10 536 9 341 32.1
BT 27 1,391 9 620 12 785 74.2
FHERTH 42 1,629 36 1,498 22 1,067 107.7
Z2U00OtH 16 527 8 192 6 111 22.3
= fixHT 1 619 1 619 0 0 27.9
= R T 1 12 0 0 0 0 0.3
= = HT 17 807 9 481 15 748 58.8
SEMT 1 322 1 322 1 52 11.1
= ST 1 549 1 549 1 490 33.9
= HT 5 610 3 489 1 458 38.8
K 35 HT 9 1,643 5 344 3 87 47 1
J1| FE T 21 620 21 620 3 85 26.9
#B = HT 1 129 1 129 1 61 7.0
5 J I BT 8 184 6 164 6 164 12.9
MEZEFT 0 0 0 0 2 13 0.4
S JRRET 32 415 2 46 0 0 13.2
= T FEmT 9 636 6 550 0 0 29.7
H2Z 1 420 0 0 0 0 11.4
F 4 FEET 1 448 0 0 0 0 12.4
ERSE 672 44,989 564 42,210 247 23,490 2,205.3
EIRET™ 7 407 7 407 6 351 27.0
EE™ 34 1,755 32 1,515 21 1,201 101.5
LI T 8 600 7 595 6 513 27.4
Bl A R T 26 296 21 273 3 97 16.7
HKmh 10 1,952 8 1,833 8 1,775 95.7
fBEE™ 1 1,459 1 1,459 1 1,459 69.0
2R 35 1,326 33 1,222 3 133 45.1
FEKT 3 482 3 482 1 426 29.4
FEEE)I|NTH 30 1,737 25 1,569 19 1,287 120.2
HEm 5 1,905 5 1,905 5 1,837 127.6
=2 AT 42 2,114 39 2,042 23 1,376 115.1
2E2th 28 1,908 26 1,892 10 766 89.5
WhEEKREFH 2 383 2 383 1 373 27.9
E3eF il 18 1,290 18 1,290 12 1,014 82.4
shE 28 1,533 26 1,493 6 211 67.5
T=ETH 22 670 22 670 6 235 24.4
PR il 32 2,575 31 2,415 23 1,891 116.0
FiEmh 36 3,338 33 3,241 20 1,341 193.1
BB 3 1,048 3 1,048 2 966 75.6
=DFEHT 61 1,214 33 843 32 827 76.9
R SHT 33 824 7 296 0 0 22.9
B 7K HT 27 605 6 398 2 351 36.7
N 1] 12 920 12 920 9 657 58.6
HRERHET 10 809 9 629 3 400 46.9
7 L ET 1 70 1 70 0 0 3.3
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= b £ ST L

FiRME £ (2 R)

&iRF EXZ#h (RFan{L)

#IERTIR 4 R{t&48E
THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
EPNEL) 8 438 8 438 5 267 25.3
AT 4T HT 8 984 8 984 6 820 70.0
R A BT 25 1,799 21 1,348 1 106 58.0
e AR HT 14 660 14 660 0 0 20.3
= A EHT 13 505 13 505 0 0 16.5
RFOFT 1 53 1 53 0 0 1.5
FERA 5 75 5 75 0 0 2.2
8P NHET 10 143 10 143 0 0 46
e JERET 4 38 4 38 0 0 14
=5RHET 26 1,256 26 1,256 0 0 24.1
=z ST 10 1,492 10 1,492 0 0 46.0
X AT 2 1,141 2 1,141 0 0 35.1
FLET 1 976 1 976 0 0 30.9
F0;EHET 21 1,742 21 1,742 11 991 68.8
x4 BT 1 1,690 1 1,690 1 1,690 78.2
5 smHET 9 779 9 779 1 130 26.0
&t 4,617 258,761 3,694 231,548 1,875 145,241 14,259.5
byl 51 22,078 47 19,126 23 8,934 486.1
GiEmH 2 3,501 1 742 0 0 49.3
4 ET 5 268 5 268 0 0 5.6
Kb 1 746 1 746 1 746 23.1
2 REH 1 45 1 45 1 45 1.8
S55Fmh 5 548 3 380 1 34 9.9
ey =il 5 8,755 5 8,755 5 3,040 168.0
Eab] 4 694 4 694 4 694 28.1
E3EER S| 1 238 1 238 0 0 2.9
KEKH 1 27 1 27 0 0 0.6
R 1 50 1 50 0 0 1.1
SIFIZH 1 286 1 286 0 0 4.2
AR ERHET 1 103 1 103 0 0 1.8
B HhFt 1 506 1 506 1 440 17.9
BB EEFT 1 468 1 468 0 0 9.5
= ECHT 1 327 1 327 1 327 13.7
FIH 1 620 1 620 1 620 25.0
A A A 1 327 1 327 0 0 6.5
7 J& [eR T 3 33 3 33 3 33 1.4
R [EH 1 133 1 133 0 0 2.8
PN XS] 1 1,703 1 1,703 1 1,703 35.8
L REFF 1 523 1 523 1 523 21.1
FEEH 1 194 1 194 1 194 7.0
FEAH 1 499 1 499 1 155 14.1
A K SHT 5 671 5 671 0 0 13.1
J\E R HT 3 317 3 317 0 0 6.7
% RiE+t 1 470 1 470 1 380 14.7
rrEET 1 25 0 0 0 0 05
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. = i 5 S fL &iRm £ (FRE) FiRR X (RFaib)
R E T I8 4 }"ﬁ#ﬁ%ﬁ
THIMNE | sgaes BEERBERN) S2EEN RELABERN) NRAEN HERERBERN) (B EAR)
AR & 27,514 1,511,965 21,436 1,305,188 11,597 699,590 82,123.3
£F &t 28,348 2,292,522 22,223 2,023,175 11,616 710,587 93,588.7

X1 HREAMEREL. AREEHSIRATEOEEZRRELTERHEIMER THEAMDEIR.

%2
%3
X4

X5 RfTEHBIX.EE+HMAE
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